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e : E+221-79

BSF2EHE
S — BIEME (R1/oa>—N)LRER) —
BIE B - X% I TE Hh 2 Som Py 000 BIES e
Dt ER (X R MEHLE) — 0.06 — PA-1000
1/6 (R) BN @I RYEEO — 0.05 — PA-1000
@RUFH — 0.06 — PA-1000
Dt ER (X R MEHLE) — 0.05 — PA-1000
7/1(K) Y QFRYEKO — 0.05 — PA-1000
@RUFH — 0.05 — PA-1000
TERE3EE
B B - 0R 55 45 b L W12 P e B .
5cm 50c¢m 100cm
DBt L ER (X R MELE) — 0.05 — PA-1000
12/8(K)E£Y QFRYAEKEO — 0.05 — PA-1000
QR F — 0.05 — PA-1000
DBt L ER (X R MELE) — 0.06 — PA-1000
7/2(R)EY @I RNY&EO — 0.05 — PA-1000
QR F — 0.05 — PA-1000
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e : E+221-79

R 30LERE
B B - iR B AENE (Y A70 2 —AhEE) 155 e
5cm 50c¢m 100cm
Dt ER (X R MEHLE) — 0.06 — PA-1000
1/7(R)ENh @I RYEEO — 0.06 — PA-1000
QRUF — 0.06 — PA-1000
Dt ER (X R MEHLE) — 0.05 — PA-1000
7/4(K)EN Q¥ RYERERD — 0.06 — PA-1000
QRUFH — 0.06 — PA-1000
R 294EFE
B B - 0R 55 45 b L W12 P e B .
5cm 50c¢m 100cm
DBt L ER (X R MELE) — 0.05 — PA-1000
1/4(K)BEh @I RNYEEO — 0.05 — PA-1000
QR F — 0.06 — PA-1000
DBt L ER (X R MELE) — 0.06 — PA-1000
17/4(K)EY @I RNY&EO — 0.06 — PA-1000
QR F — 0.06 — PA-1000
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R 284ERE
B B - iR B AENE (Y A70 2 —AhEE) 155 e
5cm 50c¢m 100cm
Dt ER (X R MEHLE) — 0.06 — PA-1000
1/40K) BN @I RYEEO — 0.07 — PA-1000
QRUF — 0.06 — PA-1000
Dt ER (X R MEHLE) — 0.06 — PA-1000
17/4(B)EN Q¥ RYERERD — 0.07 — PA-1000
QRUFH — 0.06 — PA-1000
FRE27EERE
EE X 154 5 PN o B ) I .
5cm 50c¢m 100c¢m
‘ Ot oL ER (X AEHEE) — 0.06 — PA-1000
1 /f(ﬁiz)gﬂgh QFRYERED — 0.08 — PA-1000
QRUF — 0.07 — PA-1000
OBuith oL ER (X R NEZE) — 0.06 — PA-1000
11(R)EY QFRYEKO — 0.07 — PA-1000
QRUFH — 0.07 — PA-1000
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TR 264EFE
B B - iR B AENE (Y A70 2 —AhEE) 155 e
5cm 50c¢m 100cm
Dt ER (X R MEHLE) — 0.07 — PA-1000
1/7 OK) BN @I RYEEO — 0.08 — PA-1000
QRUF — 0.08 — PA-1000
Dt ER (X R MEHLE) — 0.06 — PA-1000
10/3(EN QFRYEKO — 0.08 — PA-1000
QRUFH — 0.08 — PA-1000
OB oL ER (& R NEZE) — 0.07 — PA-1000
7/2(K)EN @FRY&KEO — 0.08 — PA-1000
QRUFH — 0.08 — PA-1000
OB oL ER (& R NE%E) — 0.07 — PA-1000
4/10(K)EAL QFRY&EKO — 0.07 — PA-1000
QRUF — 0.07 — PA-1000
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FRI254EE
B A -FIE I 5 TE 2 s ) Bl e
5cm 50c¢m 100cm

- Dt i ED (X A MERZE) — 0.08 — PA-1000
ngi?f%u Q@I ~NY&aREO — 0.08 — PA-1000
QRUF — 0.09 — PA-1000
OFih Bl ER (& R MfZE) — 0.08 — PA-1000
1273(K) Bh Q@3 RY&EED — 0.08 — PA-1000
QRUFH — 0.09 — PA-1000
OEih Bl ER (4 R MfiZE) — 0.09 — PA-1000
1074(%) £Y QI RYEKEO — 0.09 — PA-1000
QRUFH — 0.11 — PA-1000
Oghth Bl EB (F R ML) — 0.09 — PA-1000
8/5(8) Eh ®‘9L'ft)é.*r£§|:| — 0.10 — PA-1000
QRUFH — 0.10 — PA-1000

BIEHE — 010 — PA-1000 BERE R E (RAFETFIF D a5 B B 55 FF)
Oghth Bl EB (F R MEHEE) — 0.08 — PA-1000
6.74(K) BN Q@I RYEEO — 0.09 — PA-1000
QRUF; — 0.10 — PA-1000
OEih Bl ER (4 R MEfiZE) — 0.09 — PA-1000
416 (k) Bh Q@3 RY&EEDO — 0.10 — PA-1000
QRUFH — 0.10 — PA-1000
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SERL244EE
I B - X 0E 1% 5 AEERATAL—ANEEE) | g e
5cm 50cm 100cm
Dt i ED (X A MERZE) — 0. 08 — PA-1000
374(R) €Y QFRYERO — 0. 11 — PA-1000
QRUFH — 0. 09 — PA-1000
OFih dh L ER (& R MEfZE) — 0. 08 — PA-1000
2/1(&) Bn QFRYEREN — 0. 11 — PA-1000
QRUFH — 0. 09 — PA-1000
. OEih Bl ER (4 R MfiZE) — 0. 08 — PA-1000
1 /zp(fiz)&;?ﬁh @I NY&EO — 0. 08 — PA-1000
QRUFH — 0. 11 — PA-1000
DEih dh il ER (& R MEf%E) — 0.10 — PA-1000
12740k) £Y Q¥FRYERENO — 0.10 — PA-1000
QRUFH; — 0. 11 — PA-1000
OEith Bl ER (4 R MfiZE) — 0.10 — PA-1000
11.70K) EBh Q¥ RYLKENO — 0. 11 — PA-1000
QRUFH — 0.12 — PA-1000
Dt i ED (4 R MERLE) — 0. 08 — PA-1000
1072(:k) BN @FRY&KEO — 0. 10 — PA-1000
QRUFH; — 0.12 — PA-1000
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SERL244EE
I B - X 0E 1% 5 AEERATAL—ANEEE) | g e
5cm 50cm 100cm

Dt i ED (X A MERZE) — 0.10 — PA-1000

9/74(K) Bh @I NY&EEO — 0.12 — PA-1000
QRUFH — 0.10 — PA-1000

OFih Bl ER (& R MfZE) — 0.10 — PA-1000

8.72(K) Bh Q¥ RYLREO — 0. 21 — PA-1000
QRUFH — 0. 11 — PA-1000

OEih Bl ER (4 R MfiZE) — 0.12 — PA-1000

1.72(K) BEh QFRYAKO — 0.13 — PA-1000
QRUFH — 0.14 — PA-1000

OEih dh il ER (& R MEf%E) — 0.12 — PA-1000

67(K) Bh @FRY&KEO — 0.12 — PA-1000
QRUFH — 0.12 — PA-1000

OEih Bl ER (4 R MEfiZE) — 0.12 — PA-1000

5/8(K) BEh Q¥ RYLKENO — 0.12 — PA-1000
QRUFH — 0.13 — PA-1000

Dt i ED (X R MERZE) — 0.12 — PA-1000

412(K) Bh @FRY&KEO — 0.12 — PA-1000
QRUFH; — 0. 14 — PA-1000
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TR 234ERE
A% E KR 5 AEHE (XATOY —IVREE) | g =
5cm 50cm 100cm
OFih Bl ER (& R MEfZE) — 0.13 — PA-1000
3/12(R) Bh @Q¥RYLREO — 0.14 — PA-1000
QRUF — 0. 14 — PA-1000
Dt i ER (X A MERZE) — 0.14 0.13 PA-1000
2/2(R) Bn @I RNYEREO — 0.14 — PA-1000
QRUFH — 0.15 — PA-1000
T4t OFith dh il ER (4 R MEf%E) — 0.14 0.13 PA-1000
0K 2Y QI ~NY&ERKO — 0.14 — PA-1000
QRUFH — 0.16 — PA-1000
126(k) B Bth AR (2 R NERER) — 0. 15 0.14 PA-1000
P BRAE A A — 0.16 — PA-1000
11.718(%) £Y P D A HE A A — 0. 15 — PA-1000
11.78(0K) BEN | BdhehiER (4 R M) — 0.14 0.13 PA-1000
B b ER (2 RNHEE) — 0.16 0.14 PA-1000
10724(R) £Y Sk — 0.16 — PA-1000
H3A 7 — 0.16 — PA-1000
TER234 oKt — 0.18 — PA-1000
9./22(K) £Y HE A F — 0.16 — PA-1000
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